
6.38

c. We identify the population mean

Property ofthe CLT: the expected value ofthe sample men is equal to the population mean.

Mx
=3.65

Stull deviation forthe sumple mean

-5
=0.015

IToo

b.Calcable the Z-sue. 2. Ersae of 3.67 is 1.33

P2 > 1.33) =1 - P1z=1.33)

Probability(v z-sue of1.33 =0.9074ir:nonee
1 - 0.9074 =0.0426

The probabilitythat the simple has a meanfull
We not tofund P-211.33)-P.RIOS cost that excels 367 is approxently9.26%.

Z-sone of1.33:0.9074 d. the simple size n is dublalfrom no to 200,

z sueof0 =0.500 the sumpling distribution of" will become narrower.

0.9074-0.5000 =0.4074 As a incomes, the stude ever deceases, which

means the distribution ofthe simple mean becomes

The probablitythatsimple has or menfuel cost more concentrated and the population men.
between 365 and 3.GT isapproximately40.74%.

New SE with m:200

=u.lot

For put 3: the z-sue value cold be smaller because the

standed ever is smaller, which was the probability
would be smaller as well.

for put c: the z-sue world be smaller because the studul

ever is smaller, which mens the probabilitymold
be huger.



7.15

a. Put estimate for a population preter is a c. In practical terms, this news that we we 95%
single value for a statistic. conferent that the the average number ofIntex

gloves used per weeks by all health are workers with

In the population men, the best point a latexallergylies between 5.86 and 22.74.
estimate is the simple men

In other words, ifwe were to repent this studymay
Suple mean:19.3 times, drawingdiffect samples of46 hospital employees
Print estimate:5 =19.3

each time, we would expert the amage numberofInter
gloves used per weeks tofull between 15.86 noh 22.74
in about 95% ofthe studies.

b.1z.
d. Ruless:The data shuld be a rare simplefrom the

Given:* =19.3.S: 11.9, and n=x6. population,ensuing that every individual in the

population has an equal chanceofbeing
included

19.51isuse
it

in the simple.

Numality: The populationfrom which the simple isdown

19.3 +3.44:22.74 is morallydistributed.
19.3-3.44 =15.86

Suple size is huge enough, usully n=30)

95% cufulence interal is approvintly to invoke the Central Limit Tener.

Independence:The observations in the suple should be independent
25.86.22.743. ofeach other.

%calition:ifthe sample size is less than coolof
the population size, we can that the

observes as being approximatelyindependent.



7.25
a. Given that Y: 1.13.5:2.21, cl m=72.

113 =2.576x
10.46, 1.80)

99% auficent that the the areage umber ofpeaks male bychebous

at blue string over a specficial interal oftime his between 0.46 and 1.80.

In partial terms, ifwe were to repent this experiment many times, owing different suples of
72 chickers each time, we world expert the mage umber ofpacks at the blue sting to

full between 0.46 and 1.80 in about 99% of the experiments. This range provides an estimate of
the mage number ofpales at blue stony among all chickens, toking into acant the variability
in peaking behwie can

clickers.

b. Given that perous reseal has show that the population men number of peaks at white sting is 7.5, this value

is not within the entence interval for the men umberofpals at blue sting.

This suggests that there is evidence that chickens are more apt to peak at white sting them ble sting.
The meage

number ofpeaks at white sting is signifinitlyhigher the the estimental range for the

creagefor the average numberofpals at blesting.

However, thisconclusion is based on the assumption that two populations are smile in all relevant aspects. Ithere are

significat frences between them.In example, ifanfrent busor richens were user in the two studies, then this conclusion

may not be valid



7.61

a. Population interest:The population ofinterest in this stayis all there asults. This is the grop
that the studywants to

make fences about based are the sample data.

b. Simplefor the study: The simple for the stayisthe 100 wire adults who were swayed byRasmussen Reports.

This isthe group fun
which alta was actuallycollected,

and it's intended to be representative

ofthe population ofintent.

2. Parmester of Interest:The parameter ofinterest in this studyis the proportionofall there adets who believe thatStubuales

coffee is overpriced. This is the unknown value that the surlyistrying to estimate based on the

sample cute.

ohY =zx

Given p =0.73, z =1.96195% confidence intervalsn =100

0.73 =1.96x

0.73 + 0.028 : 0.758

0.73-0.022
=0.702

The 95% conflace internalfor the proportion ofall Auein what who believe that stuburbs cofee is

overposed lies between 70.2% and 75.5%.



7.84

a. The capvidence officient isa measure ofthe level ofantilence that we have in our estimate. It is typicallyexpressed
a deciment. For a 99% afvalence inter, the calence coficient is 0.99.

b. The desiresumpling error isthe maximum diffrence that we mold tolate between the simple estimate

and the the population parameter. In this case, the desiral smpling error is 3
guns. This means that we

want on estimate ofthe mean eye uless to be within 3 guns ofthe the mean eye mass.

c. n:1,

Given that z:2.576.5:8.6.mil E = 3
guns.

n=2 466, =55

In under to estimate the men eye mass ofginges to within 3 gaus with 99% anfidence, we would need to measure

the eye mass ofabout 55 grefes.



7.88 We not to calculate the sample size medal to estimate a population proportion with a speciful level ofunfinience
and pression.

Funk:a:Eids
In this case, we don't have an estimate for the population proputiops
Use the most conservative estimate, which is :0.5.

It maximizes the product (1-4). and trafine gives as the largest possible simple size.

ensuing that our estimate will be precise enough.

Given that z:1.645, p = 0.5.cn E=r.02.

a= 20.55e

In under to estimate the proputio ofcars that were contamined bythefee to within 0.02 with 90%
confidence, we wild need to valleysuple about its carsfrom the warehouse.



8.39
a. Null hypothesis (0):40: M:3.0

Alterature hypothesis ia):Ha:M33.0

n"represents the population men

erectival empathysame forfemale
college sendent.

3. Z:Emo
Given that4=3.28, Mr:3.0.0

=0.5.and 2:30

z==s.r]
C. prake is approximately0.001).

1-099893
=0.2007.

d. The significe level, alpha, is the threshold below which the p-value isconsidered strectrallysigfiant,
lending to the rejection ofthe all hypothesis.

Given that the p-value 0.001) isless than 6=0.01, we reject the

rull hypothesis.

This means that there isaficient evidence to support the alterative hypothesis that the mean

ential empathy sae for female college students is grater than 3.0.

e. The smallest signframelevel, as that we can choose and still reject the will hypothes isequal
to the p-value of the test. This is because the perche isthe smallest level ofsigfriance at

which the observedata cold be considered statistally significant.

The smallest alpha value:0.00107.


